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(1) [4] Determine the break-even point if C = 10x + 600 and R = 30x .
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(2) [4] Solve the following system of equations or say that it is inconsistent:
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(3) [7] For a certain commodity the supply equation is
S=2p+5

At a price of $1 there is a demand for 19 units of the commodity. Find the demand equation if the
demand equation is linear and the market price is $3 .

[N NN ?:l S D= 19 y SO (l)(ﬁ) 1S a pof\/d'
o~  oewourd  Wne.

b ?:3 . S= 203)+y = ] , So (S)u) B
a ()oivd‘ -~ 5"“1?79{/6 Lo , Stuece ?:3 TS e |
pa-liet PV (R y () S also o T dewand lone.

3> Mv\ﬂ( Coved on | {_Lv\e_,
D (s oo
<|)H) ook (33)]) : V%’ﬁ\

T 9 (4 — (|
VA U = - & .
Kam Xy =3 o 5
D19« *‘f}) +Y4

ED: ~q])+23\\‘ .

Sep 26 2011 p. 2 0of 2



